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(5%) (1) BEERFERC R BREEEE X SKEH probability mass function (PMF) ?
(5%) (2) RE£L —EICHFUE K 7
(5%) 3) EIRERERZRMC TN » IRERFEE RARE £ —E RV ZHERIKRY 0.02 (ifp=0.9) - REEHEZ(SL

BT /N n=?

(5%) (4) %5 p= 0.5 » RKHFEREH K ZRESHitE (CDF).

exy;x=12,4;y=1.,3
(30%) 2. fy (% y)={ 3K

0;ow.
@%) 1) c=7
(4%) (2) P(Y< X)
(5%) 3) K £y (x)
4%)@4) E [X ] =7
3%) (5) o, =?

(5%) (6) EW =X -Y + K f, (w)
0 Y
(5%) (7) E[X} ?

(50%) 3. Find the general solution of the following differential equations
(10%) (1) y"—2y"—y'+2y=0
(10%) (2) x*y"—xy'+2y=0

(10%) 3) »'+(tanx)y =sin2x

o dy _ xy+2y°
(10%) (4) =2

(10%) (5) (2%° - ~2y+3)dx—(x¥’y+2x)dy =0






